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O&=IHei=2ct0lY tHal K& 9,000
O&¥x== SEtiHal XA 4,000
OAOIEEUHS &EHXA 2,400,000& 75 H 16,800
Osf4ard Ad=2018 Wzl X 3,000
OosgaodY M=Ua Hal
6,000,000 7S ™ 42,000
OzZood MUl AN 88,000
—&==ZHs3 25,000
—SHNEE 9,000,000 7S ™ 63,000
O&F=z=04dx=U2 Nzl 9,000
O=3dtl "L A tHal X& 9,000
HEHS NA2Y 220,854 160,330 60,524
J| 97,152
< 8,475
i 115,227
307 glz2tol & 220,854 160,330 60,524
J| 97,152
S 8,475
s 115,227
02 QIZtFAE XS 220,854 160,330 60,524
OMEMsX X BHXIALS 72,864
J| 36,432
s 36,432
ozd H=gs N&E 121,440
J| 60,720
e 60,720
Odaisns 29 11,400
< 3,420
[ia 7,980
Osad =32uwd XA 8,400
= 2,470
s 5,930
OFEXNEXN 29 6,750
< 2,585
[ia 4,165
M= B2X™ AIEAY 21,000 16,800 4,200
J| 14,700
< 3,150
[ia 3,150
301 YerE A 21,000 16,800 4,200
J| 14,700
< 3,150
i 3,150
01 M3IBEE 263 21,000 16,800 4,200




2N

-
o
B 2
2

e ZoUHSs 243 (9 ® =)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
OAZ=0|EH XNIAALS 21,000
Dl 14,700
= 3,150
= 3,150
ME s S0 2l X 26,500 26,500 0
o= 8,000
= 18,500
307 212t0| & 26,500 26,500 0
o= 8,000
= 18,500
02 AABNEXS 26,500 26,500 0
OME= ss02cl X 26,500
< 8,000
= 18,500
ZH=2UMEHH 29 121,247 96,431 24,816
101 2121 4| 22,423 21,007 1,416
04 JIZtHI2E2XNSE S 22,423 21,007 1,416
OFAH=UN MY MEHMSXNEZX S H 14,053
=-JlE2= 41,7003 x1H #2571 10,467
sS=5 41,7003 1 =52 2,169
— A X 41,700& x1H +10Y 417
=== 1,000
OHMg=23 &Cl2el 41,7003 x5 x5H x4 3| 4,170
O=0MHEH EBALA 12
350,000& ~12& 4,200
201 LEr2 Y| 75,824 72,424 3,400
01 AP 2t2ldl 11,750 11,750 0
O=0M=HEH LAH| 50,000& *115& 5,750
OFAH=VUNFHNYH 29 6,000
—gEAE 2HEE 7Y 200,000& x12& 2,400
—HAEZFLY 200,000 x12& 2,400
—ANRES el 100,000& x12& 1,200
02 352494l 64,074 60,674 3,400
O&AH=UMEHEH 29 64,074
—HIIR2(AMOFAEI|EZE) 3,000,000 x12& 36,000
MNote=ER2 500,000& x12& 6,000
— HI|HEAA =2 300,000& x12& 3,600
—OtMEH 89 2 150,000& ~12& 1,800
— QY22 28,050 «20 A+ 12€ 674
- &2 50,000 x12& 600
— AYAEEE =242 (3MA)
550,000& x12& 6,600
—EZH (&2 ) 2,000




2AM: A2 ALY A
¥ Z2oNE 24
o9 ZOHS 243 (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— 87| &2yl 200,000& *3H A~ 33| 1,800
— J|HI&EHl &bl 5,000
206 M= Hl 3,000 3,000 0
01 X2 bl 3,000 3,000 0
Ooblg & &28sH #*¢ 3,000
—Hz32g 15,000 *100 L 1,500
—&d=s8sH 7Y 15,000& x1004 1,500
401 AIEHIL 20| 5,000 0 5,000
01 Al Bl 5,000 0 5,000
O=20M=HEH SN2 5,000
405 XHakF SHI 15,000 0 15,000
01 A&t =S F SHI 15,000 0 15,000
osg&02I 2 15,000
M=2C2 MU A 60,000 65,000 A5,000
& 10,000
= 50,000
307 212t01 & 60,000 65,000 A5,000
T 10,000
= 50,000
04 A2AtHAIE X = 60,000 65,000 A5,000
Ol &= HOIEZEWUS M=l 50,000
= 5,000
= 45,000
O=MHl 8= & 2U3 Al 10,000
& 5,000
= 5,000
g NEESHE 29 22,360 22,360 0
201 Yet2 | 22,360 22,360 0
01 AP 22l Yl 1,000 1,000 0
OFAEE <L S&EXNFY 100, 000& =103l 1,000
02 53294l 21,360 21,360 0
O+ NEZHE 29 21,360
— LHEHH| (LPG) 1,830& *4,000Kg 7,320
—MIR23 600,000& x12& 7,200
— Aol ER3 400,000 x12& 4,800
— N33 50,000& x12& 600
— BotgH 849 &2 120,000& *12& 1,440
g SE2SE 29 43,770 32,500 11,270
101 @121l 4,170 3,900 270
04 JI2ZtH2E2XNEE S 4,170 3,900 270
OS&E2sE &0 e 41,7003 x5 x5 x4 3| 4,170
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S M2 AIL A
zH=s 54
NS 43t (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
201 fEt2E | 31,600 26,600 5,000
01 AtR 2t 2l Hl 1,200 1,200 0
OFAEE ¥ stEXFY 100,000& »12& 1,200
02 s3=9Hl 30,400 25,400 5,000
OSE2sd & S3HFAE 22 30,400
—dIIe= 800,000& »12& 9,600
—dote=R=3 500,000& »12& 6,000
—HIHEBNMN =2 170,000& »12& 2,040
— A2HI(&TAI) 2,000
— AL AA H&HF==ZT (400 A)
480,000& 122 5,760
— A€ EHl |Xdl 1,000,000 53] 5,000
202 o4 Hl 2,000 2,000 0
01 SLHOHI 2,000 2,000 0
OMSAEEE bl 2,000
206 M =4l 6,000 0 6,000
01 M= dl 6,000 0 6,000
Otlg & H=E2sH 72E 6,000
—Hz+ 15,0002 x200 % 3,000
—d=2sSH 7Y 15,0003 2004 3,000
g+ SESE 242 64,414 52,596 11,818
101 @124 H] 21,814 21,106 708
04 JIZAtNZ22XNSEF 21,814 21,106 708
OSeEZINE &Ci&el 41,700 «5L x5 x43] 4,170
OSsMESAIE 22 92 17,644
—Jl2= 48,7003 1H +251L 12,224
—F25< 48,7003 x1H «52& 2,533
—EEF0tdl 200,000& »23| 400
— x4 48,7002 ~10 487
—2&8= 2,000
201 Yet2 | 38,400 30,000 8,400
01 At 22l bl 1,200 1,200 0
OsaX & 34835 72¢ 100,000& »12& 1,200
02 5524t 37,200 28,800 8,400
OFSPIETE= 1,500,000 x12& 18,000
Odst=Es 700,000& »12& 8,400
OHIIUHTHAAN HA+2 500,000& =123 6,000
OALYMAMN U =2 250,000& »12& 3,000
OoetEd e =2 150,000& =122 1,800
206 M =4l 4,200 1,490 2,710




SN SHUSBIAYA
HM: ZoMs 4
©9: TOMS 2o (29l 8)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 X2 b 4,200 1,490 2,710
odlz & M=Hd #¢ 4,200
—dlz3¢ 15,0009 140 % 2,100
—H=x=H 7 15,000& »1404 2,100
HESAE &= 82,330 3,348,214 N 3,265,884
HEAE X2 82,330 509,810 N427,480
201 2Et2H Y| 1,330 1,330 0
01 AP 2t 2] H| 1,330 1,330 0
O A NNE 2 130
—EZS2E4H 53,000& =1 53
— A4 =4 77 ,000& 1 77
Oo=2tkg 7¢ 1,200
202 o4 | 1,000 1,000 0
01 2L HI 1,000 1,000 0
O2LAEH HSAE X2 1,000
401 Al HI L £ 0HHI 80,000 507,480 N427,480
01 Al& H| 80,000 500,000 A 420,000
OMESAE KA22 50,000
OMMHOIEESE AYUAIE B4 30,000
HE2s 843 € M2 4 405,000 825,000 A 420,000
& 39,000
= 366,000
AE2SHIIRE 29 405,000 825,000 A 420,000
& 39,000
= 366,000
301 LBt A= 405,000 825,000 A 420,000
& 39,000
= 366,000
Vo= - 2 SESENZ 405,000 825,000 A 420,000
ONdz== 20 302,000
Otigs&dl 14,000
OMNECE 24| 89,000
o= 39,000
= 50,000
22X E 4,648,954 3,688, 148 960, 806
2 2,254,000
J| 11,900
= 5,774
iy 2,377,280
ZEZD|BHAIE &5 58,983 463,076 AN 404,093
FEDS HZAIE e 50,983 55,076 AN 4,093




2N

2 s2Z
Ny BEIE
Belr 2AINBAIE =5 (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
101 @124 H] 13,863 11,956 1,907
04 DIt Z22XsSE+ 13,863 11,956 1,907
OZMHI A2 2eled 2 13,863
—Jl=2= 41,7003 ~1H +229 9,550
=Ry 41,7003 »1H 48 2,002
—Zpusy 62,5502 1% 122 751
~- g8z 1,560
201 2Bt2 Yl 37,120 37,120 0
01 AtR 2t 2l | 14,600 14,600 0
OZ=MHIZAIZ 29 14,600
—E2= MA 600& %10,000% 6,000
—Hgxzld =8 2 200,000 »62! 1,200
—HARAEY =2 1,300,000% 23] 2,600
—&dA8 HE 2Y 200,000& *53| 1,000
—3¥d 3 7Y 100,000& 43| 400
— gk AR EH| 100,000& »12& 1,200
—W2=) ey g(igdy) 200
— &Yl 5,000& 10074 x4 2] 2,000
02 524 22,520 22,520 0
OZMHI A2 S82= 22,220
—QHY & HIRS 50,000& 122 600
—&JjtE 2 Y 160,000& =122 1,920
s 1,300,000+ 128 15,600
—ABAe= 150,000& =122 1,800
- H3x A 300
— g4l 28 2,000
OFZEUH0IE dIIRs 25,0003 122 300
Jor23td 22X fe 8,000 8,000 0
308 XXM SO0I™ 8,000 8,000 0
05 X SHH2LES S 8,000 8,000 0
OJtor=std B3 8,000
—Jl0f=23td §S/3as 2,500,000& 23] 5,000
—Jtor=23td XXM M= &t 3,000
Aelstd 22X e 4,439,628 2,916,566 1,523,062
& 2,254,000
= 2,185,628
Aelata 2o oot 44,298 45,646 N 1,348
201 Yet2 | 13,000 13,000 0
03 #Ar2EHI 13,000 13,000 0
ORM1028 Xelatd TUHXRISHH MIHa &It 13,000




EXN: SHSHZTAIE A
Yy BYNE
S Xelahd 22X He CEERED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
308 XHXIGH SO0l & 31,298 32,646 N 1,348
05 AXISHHZ2ZES S 31,298 32,646 AN 1,348
OXelsH 22 xE 22 31,298
XNelatd 22Z2012H4l0l 49 200,000 33,340 166,660
2 120,000
= 80,000
308 MXISHMSOIA 200,000 33,340 166,660
2 120,000
o 80,000
05 RXRSHAH2AESZ 200,000 33,340 166,660
OXelata 2Zo2td ol 29 200,000
2 120,000
= 80,000
XNeladtd SHIE sEAE g4 123,000 30,000 93,000
2 74,000
= 49,000
308 AXIEHSOIA 123,000 30,000 93,000
2 74,000
= 49,000
05 ANXSHHM2REESSZ2 123,000 30,000 93,000
OXl2latH EXHI SeAlE ] 123,000
2 74,000
= 49,000
Telad sE=25 20 Y X4 100,000 430,000 330,000
2 60,000
= 40,000
308 XX EHH SO0l & 100,000 430,000 A 330,000
2 60,000
= 40,000
05 AXISHHZ2ZES 2 100,000 430,000 A 330,000
OX2IMR S&235 2HOS ANEIY 100,000
= 60,000
= 40,000
Xelard AN 22AEINe 35,000 35,000 0
= 21,000
= 14,000
308 XX SHHSOIH 35,000 35,000 0
= 21,000
= 14,000
05 NIXSHHM2AREESE S 35,000 35,000 0
OXela HH 2ZASRY 35,000
2 21,000
= 14,000
Xeldtd 78 701 4 74,000 70,000 4,000
2 46,000
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EXN: SHSHZTAIE A
Hu: pEAE
EHe: XlelAtd 22X e (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 28,000
308 MXISHHMSOIA 74,000 70,000 4,000
2 46,000
= 28,000
05 AR SHHZ2LEES 2 74,000 70,000 4,000
ORXlelatd 78701 4 74,000
2 46,000
= 28,000
2014 Xlelatd g29° ol 333,330 166,670 166,660
2 200,000
= 133,330
308 XX SHHSOIH 333,330 166,670 166,660
2 200,000
= 133,330
05 XSRS 333,330 166,670 166,660
02014 Xl atd 829 of 333,330
2 200,000
= 133,330
=H Al 22X g 3,010,000 2,105,910 904,090
2 1,505,000
= 1,505,000
401 AlEHI 2L 2 0HY| 3,010,000 2,105,910 904,090
2 1,505,000
= 1,505,000
01 Al&H| 2,883,196 1,979, 106 904,090
OU=HM I M2tZ X IR 2,883,196
2 1,444,553
= 1,438,643
02 2teld| 120,894 120,894 0
OU=HM AKX g 22|
8,574,000,000& x1.41% 120,894
o 60,447
= 60,447
03 Al 201 Y| 5,910 5,910 0
OU=2H H 22X JHe A2
1,641,606,000& *0.36% 5,910
EIR2ENHE S & AEXIEAY 520,000 0 520,000
2 228,000
= 292,000
308 MXISHMSOIA 520,000 0 520,000
2 228,000
= 292,000
05 AXEH2HEEZ 520,000 0 520,000
OEI2E&0HesSE A8 Z4AY 520,000
2 228,000
= 292,000
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S HS2ZAS
BB
HBESYNUIANM cHel E )
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
301 et a = 26,600 31,150 A 4,550
J| 5,000
< 5,000
s 16,600
MIIEEd=3 26,600 0 26,600
OZ2st2 2ol & At &S| 26,600
J| 5,000
< 5,000
a 16,600
2 2D SEA 25,000 50,000 225,000
307 21201 A 25,000 50,000 225,000
04 BIZtHAIE X S 25,000 50,000 A25,000
OZ Z2J 2t A 25,000
HFMR X S=0A LHEIEXS 10,000 20,000 A 10,000
301 gt d= 10,000 20,000 A 10,000
1MIIEBELSS 10,000 20,000 A 10,000
OZFHRX F0HAAM AQUEIEXS
5,000& +2,000< 10,000
O HRH™ At 9,480 10,000 A 520
J| 6,900
< 774
[ia 1,806
301 LAz 9,480 10,000 A 520
J| 6,900
= 774
s 1,806
01 MI28E 6= 9,480 10,000 A 520
O HH X At 9,480
J| 6,900
< 774
e 1,806
HE2IAZH (2SH S22 AL A) 54,830 52,040 2,790
el 2 6,750 6,750 0
oI 2| 6,750 6,750 0
101 14 Hl 6,750 6,750 0
03 2N AHAA2Z2NHE =+ 6,750 6,750 0
ONELTHEEZ 750,000& »9H 6,750
=& Hl 48,080 45,290 2,790
JlE&l 48,080 45,290 2,790
201 Zer24] 35,000 32,250 2,750
01 At 22/l 27,650 27,650 0
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